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import numpy as np

import pylab as pl

def u(n):

return (-1)**n/n

def suite(x,n):

p=[0]

q=[0]

S=[0]

s=[0]

for i in range(1,n+1):

if S[i-1]>x:

q.append(1+q[i-1])

p.append(p[i-1])

s.append(2*q[i]-1)

else:

q.append(q[i-1])

p.append(1+p[i-1])

s.append(2*p[i])

S.append(S[i-1]+u(s[i]))

return s,S # ici on renvoie s et S pour "visualiser" l’état de S_n

def suiteDessin(x,n):

p=[0]

q=[0]

S=[0]

s=[0]

for i in range(1,n+1):

if S[i-1]>x:

q.append(1+q[i-1])

p.append(p[i-1])

s.append(2*q[i]-1)

#print(’>x’,s[i])

else:

q.append(q[i-1])

p.append(1+p[i-1])

s.append(2*p[i])

#print(’<=x’,s[i])

S.append(S[i-1]+u(s[i]))

abscisse=list(range(n+1))

axex=(n+1)*[x]

pl.xlabel(’abscisses’)

pl.plot(abscisse,axex,linewidth=1,color=’green’)

pl.scatter(abscisse,S,s=5)

pl.show()
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>>> suite(-1,30)

([0, 1, 2, 3, 5, 4, 7, 9, 6, 11, 13, 8, 15, 17, 10, 19, 21, 12, 23, 25,

14, 27, 16, 29, 31, 18, 33, 35, 20, 37, 39],

[0, -1.0, -0.5, -0.8333333333333333, -1.0333333333333332, -0.7833333333333332,

-0.926190476190476, -1.0373015873015872, -0.8706349206349205,

-0.9615440115440115, -1.0384670884670884, -0.9134670884670884,

-0.980133755133755, -1.0389572845455197, -0.9389572845455197,

-0.9915888634928882, -1.039207911111936, -0.9558745777786025,

-0.9993528386481677, -1.0393528386481676, -0.9679242672195962,

-1.0049613042566332, -0.9424613042566332, -0.9769440628773228,

-1.009202127393452, -0.9536465718378964, -0.9839496021409266,

-1.012521030712355, -0.9625210307123551, -0.989548057739382, -1.0151890833804076])

#au dessus S_30=-1.01518... : proche de-1

>>> suiteDessin(-1,70)

2

13




